EARAROBREBRT —5 XN—ZXBISH—F

2024558198 (B) 401ER3H

LMt SRk C29 BN R
[xE%] 15 :400,000H  23%&:128,000H  3#&:64,000 M  43%&:48,000H 5 3&:40,000H
RS R HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
JYITFI— 4 4 ?él%xﬂ 1:30.9 3-3-3-2 [38.2| — 1 478 gﬁgé (&R
= - =) EIE
RiEYIT—Y— BIYVIR—LTY =1 TR
= B4 | SAK— 1:31.3 1-1-1-1 [39.3| — 2 525 | MIEEADE (&R)
7'32“2734 I 56.0 ®) () | @ Fz-2rEvay
RiZwF—TA) B:ILEFIANL ESHhIT7—L
=y < A5 1:31.4 2-2-2-3 [39.0| — 4 472 | )IR8sh (&R)
NARIWT 21UV Ho4| e =
: 172 SARX
R:RTU—Ve—O— §:AREN—T— a2 0 e 0y kor—1
S T—>3 3 o6 | EEtET 1:32.4 4-4-4-4 [39.0| — | 6 | 448 |MBHOE (&R
455 //\.1_ /{;'ngl\ ) 56.0 ®) @) |EFTH
Rib—tr> [SIVAVIVSZRAVA N EHERAIY R
L5y R — 4 4 | WPt 1:33.0 6-6-5-5 |38.8| -— 7 437 | JIREAEL (&R)
5(7(7| ¥y EIL—L 56.0 3 Oy |8 UIv=sus
RARASIKRZ—9 B:RIIFIT—LR #HET7—L
W R57.9°~ v 7 | SHEE 1:33.3 5-5-5-6 | 39.4| -— 5 463 | EEFIR (FR)
6 3|y |‘_79/ s 56.0 (1 1/2) ) | @ Tr—2bETav
Ri—3—yvF B:LyRIEIL /=Y Tr—I
7 4N LIS—I 57 210 @gmﬁa (1;35.3) 7-7-7-7 | 40.0| — 3 498 ﬁg% (FER)
. gAY B
R:PAINDT Y — BARY I ITAY © SHKS
@ 1—F—&RIEL
13—7— 1,2,6,5,3,7,4
20—F— 1,2,6,5,3,7.4
30—7— 1,2,6,5,(3,7) ,4
43—F— 1,6,2,5,7,3,4
@ ILRE
BB 6 130 JA R 1-6 120M B & 1-6 1904 3EE 1-2-6 680M3
B B 6 110/ 2-6 3504 =51 6-1 270 3EH 6-1-2 1,090M4
1 120 1-2 480

ABIC OV TRUTEREERRODDZE. THRIIZEL.




